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500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
- = o AF ol s = 7] S
s O72ABRAA AAFe(12,655%W)  18,952,128,0009 = 18,952,128
O71 2SR A 459 (12,6559) 2,429,760,0009 = 2,429,760
O71 2SR ALY 2559 (1,5009) 764,266,000 = 764,266
OA&ALY Fofzt =4 A4 48,000,0009] = 48,000
O%elots F-Fr3(30%) 12,600,0009 = 12,600
Ol % 4(950%) 478,800,000 = 478,800
Ol A ul5n] #(267) 20,800,0009] = 20,800
OZelll o sr] %4 (300%) 56,000,0009 = 56,000
OFolld Aedr 7] A 8,000,000 = 8,000
OA A7) &FH] 105,000,0009 = 105,000
OHad ALdAdd 9 35,000,0009 = 35,000
OAEA Y ATz a3 FH] 24,000,0009 = 24,000
OAZALY A S FAMEY 1,600,0009 = 1,600
ORI e A=A 560,000,0009 = 560,000
O712ERAGAY FAF =3 120,000,0009 = 120,000
OAZY A&ZZAY 320,000,0009 = 320,000
OxQ1dAe] AbY 17 H] 141,388,0009 = 141,388

- 2/36 -




500 HEF 510 FIHZFFS 511 IR ZFFS 511-01 IR ZF
7}
—— = 7] e
s 2(4,000%) 1,444 800,000 1,444,800
SHA Ay A 540,000 540
&= A WS 864,000 864
7} A ALY 2,500,000¢1 2,500
A7 Y 123,866,000 123,866
Ba74 A 17,284,000¢ 17,284
Aol FHnl A 100,000,000 100,000
Q1) A DALY 14,400,000¢ 14,400
Hyhey Az} 400,000 400
ZA A X BALY 876,000 876
WA X 84 1,535,000 1,535
OXEARSAIAE e & 125,162,000 125,162
AALDAE EAY 50,000,000 50,000
ZH 2 KHEA| 19,600,000 19,600
7 A AX(10714) 20,000,000 20,000
A7) Ax 25,000,000 25,000
A g9 2 AihSolys BEE 3,155,168,000 3,155,168




500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
- = o AF ol s = 7] S
%é;i()zlz ORFA L BEAA Gyl 4,800,000¢ = 4,800
Z+H
OolsEAAE (3 5otd) 75w} 149,000,0009 = 149,000
ORFAA BEAAE 7] sRn 72,000,0009 = 72,000
OWl Fot H Folldd BHAAE A5 267,960,000 = 267,960
Ol FA A A A DAY 18,750,000 = 18,750
Ok ol B e el 700,000,0009] = 700,000
OAgE&F A8 A AEAE AAAY 794,000,0009] = 794,000
O L&F7 FAn 196,224,0009) = 196,224
O7NA g+ e H] 52,000,0009 = 52,000
OEAABA 28 3% 2,784,000,000 = 2,784,000
O1/1000 == A &= A 2HAF 310,500,000 = 310,500
OMEAZ - FRIA LA 2,324,000,000¢ = 2,324,000
OEANA LS FASAE NAAE (29A]) 57,000,0009 = 57,000
OsEYLET NI 170,000,0009 = 170,000
Oghdoin] &7 88,000,000¢ = 88,000
OFg7Ad &9 Bnx 7,320,000 = 7,320
O719 Zgu|Akg 90,000,0009 = 90,000




500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
p—— = o AF o s = 7] S
oll = 01 O71 A3 42z 3 LAY 416,000,000 = 416,000
EEA R , , 000, :

Odt=FAAY (4714 3.9km) 820,000,000 = 820,000
Ox =A== d 13,000,000,000¢ = 13,000,000

O Al ~ FAF A (FE ~ F7HHEEANA
3,500,000,000 = 3,500,000
OxAIC ~ ¥z F9== /A 2,500,000,0009 = 2,500,000
OAFHAEZA Y] 150,000,0009 = 150,000
Ooldol B35 714 735,000,0009 = 735,000

Ol gAFaLZ-2 3704 (=3,600,000)

— Z= & ICA 3k %= 3,400,000,000¢ = 3,400,000
—AAFIC ~ A FFEH AX 200,000,000 = 200,000
020059 %= F&AadE7]a olxtRA 56,259,0009 = 56,259
OHATF2H 22 Fn] 393,750,0009 = 393,750
OHA7FM 22 A5 123,546,000 = 123,546
OAH 2= T+l mE BExw 250,000,000 = 250,000
OFA-As Add a4 15,400,000,000 = 15,400,000
OAIWH 2= TGtz x4 424,000,000 = 424,000




500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
p—— = o AF o At = 7] S
5%11—7;i()7}l O=sdAGAEA AAikdag] A< 4,098,000 = 4,098
R B ]

OsAH A3 =Fn(97]142) 4,320,0009 = 4,320
OAEFTHFY s8ME w34 5 oy 2,000,000¢] = 2,000
OB AA AFY F31 2 A Lo H] 2,202,000¢] = 2,202
O =AY AHAEA FxoH] 209,0009 = 209
OFEA LA s &jdg of v 3,600,000¢] = 3,600
OH Hal& 534 5% (5,610ha) 84,150,0009 = 84,150
Os71A @471+ FA2F 524 (1607) 800,000 = 800
O35y AHAEA A (5,502ha) 2,843,000,000¢ = 2,843,000
Oz A A% (130ha) 390,000,000 = 390,000
OxAEYA Y AHAEA A (4ha) 1,120,0009 = 1,120
O SH3E AAAA M4 178%) 50,000,000 = 50,000
Ou% A& FH Y (F8& =) 11,500,000¢] = 11,500

OAAES} A% Aul7-9 (=17,750)
—ZoldA o]Y7] 8,000,000¢] = 8,000
—A%7| 7,500,0009 = 7,500
-k Jz27] 2,250,000 = 2,250




500 X =E=w 510 W ilHZETG&

511-01 =X ZFw

e =5
g = off 4k o At =3 7] S
s OFF5% 24 500,0009! 500
OF=uf @1 A% 500,000 500
OF=ul 272 F&H] 1,300,000 1,300
OFFFuf ¢ A5H] 500,000 500
OAFFITE D F35 GF-Fx19H] 1,200,000 1,200
O7}5 oA FAE Al H] 14,504,000 14,504
Oz AAE (=15,124)
— 2 BA7IEA 9 3F 15,900 HEFE
15,124,000¢ 15,124
O A AYAE (=86,194)
— A AR AL 2% 1,348,000%F HEFE T
86,194,000 86,194
O d5AL (=14,506)
— o FAE 4,762,000 HAEFFE 7Y 14,506,000 14,506
O7 Ig=s=AF (=2,309)
-39 5,660F HEFE 7Y 2,309,000 2,309
OBY SolHF¢ 1F 8,3207 HEFE 7Y 7,174,0009 7,174
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500 HEF 510 FIHZFFS 511 IR ZFFS 511-01 IR 2T
e =5
o AF o s = 7] S
g8 =
%g;i%% OxgFF = 1,431,000 1,431
OFAbsZA AR 2 Q0] 6,750,000 6,750
OFAHE=A g A2 A DAY 17,532,000 17,532
O ASHE A AHALY 7,500,000 7,500
O7F5%Y FAAL57] AHEAN] 8,500,000 8,500
OFE A= FEAA MAAHEAY 10,000,000 10,000
O&-F A8 AHAY 1,000,000 1,000
Ogtul a2 ALA4 110,360,000 110,360
OF&d 2704 A 90,000,000 90,000
OEglzto] & FAxAIE T4 AHEAY 5,000,000 5,000
O&d74 94K DB} Q1zu] 6,125,000 6,125
OF5H A w2 1,400,000 1,400
OsddY 712749 wAA = 600,000 600
OHEAAY AT 200,000 200
OFAHE 25FAF BT 600,000 600
O&2HE 254 o) 408,000 408
Odd AAYHE ofy] 300,000 300




500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
- = o AF o s = 7] S
oll = 01, OsddAT A= 186,000,0009 = 186,000
SR = , UL, LUV ’

Ol g5 A NS F7EA F241H] 7,000,000¢] = 7,000
O ARsus 7z v 950,000¢) = 950
OALE AEus A7k BA 1,500,0009] = 1,500
OA7FE @z 2 A4 FA2 F24]8] 500,000¢) = 500

ONE Y o] &2 A S FHA2H F5AS
2,250,000 = 2,250
OEg] AlsgdsdAd e g wson 500,000¢) = 500
OF4ded FE=F5uS A7 5244 1,269,0009] = 1,269
OAEFAS A3 ZYdF7ka v 1,000,0009 = 1,000
Ostad-H #A s A4 2,000,0009 = 2,000
Od-s4-H3l e ARs7F A4 7,500,0009 = 7,500
OA4-H3] S4=4 530,000¢) = 530
OFEAE23] S 1,038,0009 = 1,038
OsdHddzdd A4 28,000,000 = 28,000
O ddd Av+<d 750,000¢) = 750
O 7RG ALY 1,829,520,0009 = 1,829,520
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500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
p—— = o AF o At = 7] S
oll =01 O3h 3] 1.2 A 2] A 10,000,0009 = 10,000
SR = Y, ’
Os4+= Wiz TFAGA Ann7t 10,000,0009 = 10,000
Odls BEZAMS 58 5357 A4 500,000¢) = 500
O nF4 7] ALA% 10,000,0009 = 10,000
OEZRAW A A= &g 5,000,0009 = 5,000
OXA &g Ao 2E allFHA 10,500,0009 = 10,500
Ot BARAGA D A §242] Al 1,000,0009 = 1,000
ORI -2 AMNAA A28 A=A A 3,000,000¢] = 3,000
OEYMNEFA T 214,043,000 = 214,043
OF2E57H7] 9,000,000¢ = 9,000
OAFE A o2 3o (2018) 33,840,0009 = 33,840
OAF a5 o 22 A719](37) 17,517,000¢] = 17,517
OAbE %1 3k521 1] (47078) 705,000¢) = 705
OMEHS ARG dATA(EHFZ2F 3,510,0009 = 3,510
OAHE A 2 5-5-(233)) 1,380,0009 = 1,380
OAHEZ 8}& 5o H] (2209) 660,000¢) = 660
O£l =3 2] A (50ha) 5,117,000 = 5,117




500 HEF 510 FIRZFS 511 FIRZFS 511-01 IR ZF
e =5
p—— = o AF o At = 7] S
s O% &4 - A& AW A (40ha) 1,236,0009] 1,236
O 22141 9] &l 5541 7 (6, 000+ ) 157,182,000 157,182
O AdE 3334 (1,500ha) 3,091,000 3,091
O 234 ) 3,300,000 3,300
OYPEA A (FZ2 W5k, H5=7km) 303,600,000¢ 303,600
OxH A+ (70ha) 112,643,000 112,643
O+ = A (550ha) 355,644,000 355,644
O 75 35 2A7H50kn) 735,000 735
OArERA F47] 4+ 1,920,000¢ 1,920
O%7Ht7) AEgg Fu 7 39,522,000 39,522
OAFA o8 B34 A 20,739,000 20,739
OFFHAA X5 gEH] 2,268,000 2,268
O a2 18| 1,700,000 1,700
Odaael e 18| 500,000 500
OFSE=RrsE =1 nb ] 300,000¢ 300
OF-o 8 gl gkx} AY A B S| 737,000 737
OF8xdd T2 =7 A4 1,980,000 1,980




500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
p—— = o AF o At = 7] S
s OZEZA el 4w 1,200,0009] = 1,200
R B ]
OB +A4%4A ABAY 8,000,000 = 8,000
OAA A FAHA 19,913,0009 = 19,913
O&AT ol FEA AFAE A B 19,950,000¢] = 19,950
OsAMAZE TFol g Al 44,025,000 = 44,025
O3] AFA A=} o E 0] A LAY 173,220,0009 = 173,220
O 7174 A4 18,750,0009 = 18,750
O A o}F-Hl-F- 71 AL Al = 1] 37,680,0009] = 37,680
OxRN A B H AL H] 37,200,0009 = 37,200
O A B AALG H] 2,500,0009 = 2,500
O9=Aq+=a AXY X 54 2,250,0009 = 2,250
OEARAM =W AL B 30,000,0009 = 30,000
O g iAol &3 AR 23,340,0009 = 23,340
OA T G frob A3 XA 436,0009 = 436
Omnlsol B AH Aol ol o mu| A ALY B 52,800,000 = 52,800
O frotell B3 & o] 26,900,0009 = 26,900
Oxdt. G A n 3,200,0009 = 3,200




500 HEF 510 FIHZFFS 511 IR ZFFS 511-01 IR 2T
e =5
p—— = o AF o s = 7] S
%g;i%% OWEReHga a5 209,000 209
O=7F dg A 204,651,000 204,651
OA G 3] GARAME 2FH] 15,000,000 15,000
Ozoldry o ZH| A LA H 5,000,000 5,000
OAFABARAL -4 H] 600,000 600
Ocllo]=ztdat 2 SFAu T &S5 v] 600,000 600
Oollo] =82} XI5 H] 12,500,000 12,500
OFF 4%, tzeH ol oS v 6,245,000 6,245
OAmAHAE 9 2 582 A LAY 2,500,000¢1 2,500
O&Fe34d TEAANANY 1,621,0009 1,621
020059 % 5d=8Y Ay 87,080,000 87,080
O#u frd dEiEst Alds] qH ] 1,000,000 1,000
Odete] it FujAY] 500,000,000 500,000
OYsg i GHALY 300,000,000 300,000
O ArAY 400,000,000 400,000
OF=%e Ay 200,000,000 200,000
OxA vlol = AHIALY] 50,000,000 50,000




500 HEF 510 FIHZFFS 511 IR ZFFS 511-01 IR 2T
e =5
p—— = o AF o s = 7] S

5%13;3%1_—; OZAA B ] 200,000,000¢) 200,000
O3t 3T AHIAY 300,000,000 300,000
OYsid Ba7g4] 300,000,000 300,000
O238kAF B8 AHAY 200,000,000 200,000

O EA A ®BaAu] (=120,000)
— &t 60,000,000 60,000
— -t 60,000,000 60,000
OAE3td AAd&5A1 < 21,000,000 21,000
OBFEAL T ZALA £ 6,800,000¢ 6,800
O&3tstul g A< 6,000,000 6,000
Ow3shd AHF=% 17H] 10,000,000 10,000
OF-2&3t gols us 4,500,000¢1 4,500
OXGEAT A5 25,620,000 25,620
ORHE=T AETY 21,500,000 21,500
O 3HAE AL B 1A 5,850,000 5,850
O@dmtoldy A 1,000,000,000¢ 1,000,000
OGN EA I A 4,706,000 4,706




500 X =E=w 510 =il HFF5 511 iR FT5 511-01 =X ZFw

e =5
p—— = o AF o At = 7] S
s ORGsHFFUAN G 42 AA ol Ads 1,427,000,0009) = 1,427,000
OFolEntSstA g Ald AA 1,520,000,0009 = 1,520,000
OxlgstrETEA e d 22 A 9548 2,799,720,0009 = 2,799,720
OxldstrEEA gAId A8 A} 2,611,000,000¢ = 2,611,000
OAHstrTEAgAIAE AE A} 579,000,000¢] = 579,000
OgdHstrTEAgAIAE Ad3A} 760,000,000¢] = 760,000
OstEstrTEA gAIAd FH A 1,289,000,0009 = 1,289,000
O sstrTEAgAIAd Ad3A} 929,000,000¢] = 929,000
O EstrETEAgAIAd Ad A} 1,929,000,0009 = 1,929,000
OF-AmtEstreA gAld A8 A} 361,000,000 = 361,000
Ostrsdl Al AAstA A A AA] o] xpgk 68,000,000 = 68,000
R S 8,056,000 (O el A2 418 Auhst Ak<] 630,000,0009 = 630,000
OXda A=A NEA Y 1,490,000,0009 = 1,490,000
OAH AL =444 400,000,000 = 400,000
OL2AH 7WEAY 276,000,000 = 276,000
Ozt =)A= 1,260,000,0009 = 1,260,000
O7Fepl&E 24 1,000,000,0009 = 1,000,000
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CEHRZREE 521-01 A - EH| R FF5

2k = 7] S

179,670,000 = 179,670
O34l 7s55 +1(20%) 2,000,0009 = 2,000
OFNJYGAI A B2 o, (49) 3,660,0009 = 3,660
OAlZ-elQl 7] 2 A & u5-(507 ) 2,500,0009 = 2,500
OAsNA F3tEdAE A 26,460,000 = 26,460
O%olldl T&58E7HE &G H] 72,000,000 = 72,000
OAFS]) EA A1 482 B8] (5507 ) 70,458,000 = 70,458
OS] HAA L F82F FA 57218 (610%) 3,050,000¢] = 3,050
OAS| B A +84 458 A% (610%) 3,050,000¢] = 3,050
OS] HAA L F82F F7HEA18](6109) 16,745,000¢] = 16,745
OAFS| B A FAAF 3(1817) 232,700,000 = 232,700
OANLFAE FGu(1H2) 239,573,000 = 239,573
OZA A SAFA] k1] (240%) 61,320,0009 = 61,320
OZA A Ard A718](17) 3,600,0009 = 3,600
O3l FUHRT A G0 19,955,0009 = 19,955
OARAAAAD AHALAEH g8 =< 26,629,0009 = 26,629
OFlJAB LA A 5342k 1719] 10,800,000 = 10,800




7] ES

(12,6557)

(12,6557)

50,000,000¢!
42,468,000
100,759,000
17,578,000¢

2,500,000

6,000,000
10,000,000
175,000,000
5,250,000¢
2,369,016,000¢
303,720,000
95,533,000¢!
6,000,000

4,500,000

50,000
42,468
100,759
17,578

2,500

204,031

6,000
10,000
175,000
5,250
2,369,016
303,720
95,533
6,000

4,500




521-01 A

- EHHEFE

521 A

- EHHEFE

520 Al

500 X =E=w

(e [@N] (e (e (e (e (e (e (e (e (e (e (e (e (e <t (@]
(@] <t (] (] (] (e (e (e (] (] (] (] (] (] (] D o0
4, O, O, O, O, 5, 5, 9, O, [@V] O, O, O, O, O, 6, 2,
<t o0 Lo (ap] <t (@] o~ <t © (@] Lo (@] (ap] Lo (@] (@)
(@] (@] o~ — A — o~ Mn
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
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CEHRZREE 521-01 A - EH| R FF5

2k = 7] S
Ox=dad7dxlet 219(20078) 658,000% = 658
O74 =<1+ (4,000%) 309,600,0009 = 309,600
OEF5AxRl Ad 19,260,0009 = 19,260
OF 2% &9H] . 1] AL 430702) 100,686,0009 = 100,686
OxQEAAE 94 A4 92,461,0009 = 92,461
OAZF = B AE £9u] A9 31,284,000¢ = 31,284
OB =AT 98] AA(12714) 32,262,000 = 32,262
OAN7FAA 1=l A AR EAFSY (11078) 16,500,000¢] = 16,500
O%x2l3] &y AL (1) 2,880,0009 = 2,880
Oddetszd 9 (=AdH5A 3] ) 1,500,0009 = 1,500
Ol 7Hd -84 990,000¢! = 990
O xi 29H] AA@7h4) 10,000,0009 = 10,000
OxFTdEAR 34 83,981,0009 = 83,981
OFRIAE +F3A 20,115,0009 = 20,115
O7M A FAAAE G4 31,284,000 = 31,284
OALS "Needer"AlS 5HFZAI 83,640,0009 = 83,640
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2k = 7] S
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O =gl Belds AArd 480,000¢) = 480
OAd 7535 A 9 2,520,0009 = 2,520
OR . FA7HE G 5n] 47,204,0009 = 47,204
OR . FA7HE BEAH= 36,000,0009 = 36,000
OX.F271 A 9 At 7] 55 5] 1,750,0009 = 1,750
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OALE 27 A4 9,290,000 = 9,290
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ORZAA £on] @ HAr5ols HER 998,954,000 = 998,954
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Ak = 7] B
60,000,000 = 60,000
100,000,000 = 100,000
50,000,000 = 50,000

25,000,000 = 25,000

100,000,0009) = 100,000

150,000,000 = 150,000

150,000,000 = 150,000

100,000,0009) = 100,000

A (ghS a1 g)  2,000,000,000 = 2,000,000
60,000)

30,000,000 = 30,000
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3,400,0009) = 3,400
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ZAA 900,000,000 = 900,000
gAA A 12,000,0009 = 12,000
217 ZAA Y 10,000,000¢) = 10,000
A A 1,412,0009 = 1,412
DAy AR AR olAEE 250,000,000 = 250,000
DA e AA AR dEdd 599,940,000 = 599,940
st A E A AR S AL 300,000,000 = 300,000
DA A A TAY 560,000,000¢] = 560,000
DA A A TAY 124,000,0009 = 124,000
DA YAl A FA 163,000,0009= 163,000

1,000,000,0009 = 1,000,000
A e FATA 571,000,000¢] = 571,000
DA A A TAY 198,000,0009 = 198,000
DA A A TAY 413,000,000 = 413,000
et AgAld AdEAL 77,000,000 = 77,000
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521 - 01 ) e e Ol LA A A x| o] —
Al EH R ZRTE O slrEdA] AYSIAIA A X FAE 441,000,000¢ = 441,000
= NI
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